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THE OPEN UNIVERSITY OF SRILANKA
DEPARTMENT OF SOCIAL STUDIES

CERTIFICATE IN SOCIAL SCIENCES - LEVEL II
SSC2312/SSF1303 -FUNDAMENTALS OF ECONOMICS
FINAL EXAMINATION -2013/2014

DURATION: THREE (3) HOURS

Date: 02" March 2014 Time: 1.30p.m. — 4.30 p.m.

» Answer five (05) questions only.
> Partlis compulsory.
»  Select minimum of one question from Part IT and Part ITI and answer four (04) questions.

PART 1
1. Answer all questions. Write short answers (Maximum five (05) sentences)

i. Distinguish between needs and wants using examples.
ii. List the four (04) main types of resources.
ili. What are the basic economic problems?
iv. What is law of demand? Explain using a diagram.
v. What is meant by circular flow of income?
vi. Name the types of unemployment.
Vii. Explain the theory of comparative advantage.

viil. List five (05) functions of the Central Bank.
(5 marks x 8 = 40 mark)

PART I
2. i. Define the concept of production possibility frontier. : (5 marks)
ii. Explain the key economic systems that you have studied. (5 marks)
iii. Describe the economic system followed in Sri Lanka. (5 marks)

3. i Tasty is a company producing fish sandwiches. Briefly analyze what happens to the
demand curve of Tasty Company in the following situations using appropriate diagrams.

a) An increase in the price of fish. (3 marks)

b) An advertisement that says eating fish sandwiches is good for health. (3 marks)
¢) An introduction of a new low priced fat-free vegetable sandwich by Company X.

(3 marks)

ii.  Explain the difference between price ceiling and price floors. (6 marks)



4. The supply and demand schedules below show hypothetical prices (Qg) and quantities (QS)@Q’]
the market for oranges.
The market for oranges (in thousands)

Price Qq Qs
16.00 220 400
15.50 240 360
15.00 : 260 320
14.50 - 280 280
14.00 , 300 240
i.  Plot the supply and demand curves for oranges. (4 marks)
ii.  What is the equilibrium quantity of oranges? (1 marks)
(iii.  What is the equilibrium price of oranges? (1 marks)
iv.  Does the demand curve establish the law of demand? Give reasons. (4 marks)
v.  What will happen if the equilibrium price level is raised? Explain using the diagram.
(5 marks) -
PART IIT1
5. i, Draw and explain the circular flow of income for a two-sector economy. (9 marks)
ii. What are the approaches to the computation of national income? Briefly explain each of
them. (6 marks) |
6. i. Define inflation.
ii. Name and explain the main types of inflation.
iii. What are the effects of inflation? (5 marks x 3 = 15 marks)

7. i. What is meant by double counting?
ii. Give two methods to overcome the double counting problem.
iii. Describe the three main sectors of the Sri Lankan economy using examples.
(5 marks x 3 = 15 marks)
8. 1. How would you differentiate between growth and development’7
ii. What are the benefits of growth?
iii. What do you think are the main obstacles to growth in Less Developed Countries (LCDs)?
Explain each of them. (5 marks x 3 = 15 marks)

9. Write short notes on any three (03) of the following.
i. Labour force
ii. Central Bank
iii. Functions of money
iv. Money creation
v. Gross Domestic Product and Net National Product (5 marks x 3 = 15 marks)

*xkxk*Copyrights Reserved***+**
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